Rules for determining i-stems:

3rd declension nouns

3rd decl m/f endings

3rd decl masc

3rd decl fem i-stem

em

es

€s (-1s)
um (-ium)
ibus

ibus

rumor
rumorem
ramoris
rumori
rumore
rumores
rumores
rumorum
ramoribus

ramoribus

nox
noctem

noctis

nocti

nocte

noctes

noctés (noctis)
noctium
noctibus

noctibus

3rd decl n endings

3rd decl neut

3rd decl n i-stem

is

1

e (D)

a (-ia)

a (-ia)

um (-ium)
ibus

ibus

sidus
sidus
sideris
sideri
sidere
sidera
sidera
siderum
sideribus

sideribus

animal
animal
animalis
animal
animal
animalia
animalia
animalium
animalibus

animalibus

Nom and gen sg have same no. of sylls
The stem of the noun ends in -CC, NOT -Cl or -Cr

The nom sg of neuter noun ends - e, -al, -ar




